FHEH

4 v 24 X, e = — — oy =|
%Fll-‘ %*‘I’ HQQ-IEE 135 zﬂi 3ﬂi 4£E E Dg*ﬂiigzk EE$
HESER| A BYEEFHE 240 - 49 77 45 171 0 71.3%
‘ " REREEH 210 - 37 55 57 149 0 71.0%
EEFEY KEFH 80 69 - - - 69 0 86.3%
HEZFE HEZEE 70 41 - - - 41 0 58.6%
Gk ol FEFH 360 106 97 99 98 400 1 111.1%
RFEE 960 216 183 231 200 830 1 86.5%
XEMSESA1BRA
R4
A
=]
g 2P AZEE | AzH *;éﬁf
EEFE EEFH 80 69 86.3%
BEZFE HEZE 70 41 58.6%
FEZFE FEFHE 90 106]  117.8%
RFEE 240 216 90.0%
A | ik
HENFEH
’ TEEFERH
24 1) 24 s
FE A & | & | 3& | 4& | %
SRR b EMErEFH 0 0 0 0 0
EEHPH  psgman 0 0 0 0 0
KEZFH FKEZHE 0 0 0 0 0
HEFE HEFH 0 0 0 0 0
FEZH BESH 0 1 0 0 1
RESET 0 1 0 0 1
= N N
iR EFERLURESN
P& | pegs =
REEE 22 0 2.6
NEHAEEEE
BEEH
KEEE 16
XEHAEEER
s S N N
BFEESIUVBINREFE
gy | ALKE
REFEEE 0 0
XEHAEERR
«, & &
2
ZEEEDERIK
- i - HrE
Bh b mEEH T {Emoma-wx - _ s " ] st Db
i i man SO mmm st | xR | xem | wans 1027 tof
HESE R 8T BYEREFHE 60 57 52 4 56 98.2% 1 0 1 2 2
’ 7 REREZH 58 56 50 6 56  100.0% 0 0 0 0 0
B FEFH 97 93 93 0 93|  100.0% 0 2 0 2 2
KFEEE 215 206 195 2 205 99.5% 1 2 1 4 4
XA FAEE R




